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QUESTION 1

What is the default RAID policy for aggregates created with 10 TB disk drives? (Choose the best answer.) 

A. RAID4 

B. RAID-DP 

C. RAID0 

D. RAID-TEC 

Correct Answer: D 

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-
psmg/GUID-2808F15F-60574E43-9407-5B3CA274E6C5.html 

 

QUESTION 2

Your customer has an NTFS volume that they want to access over both SMB and NFS. The client explains that SMB
access works fine, but the clients are unable to NFS mount the volume. 

What are three reasons that would cause this issue? (Choose three.) 

A. There is no export-policy rule for the NFS clients. 

B. The NSF server is not configured. 

C. Multi-protocol is not licensed on the cluster. 

D. The volume security style must be changed to UNIX. 

E. The LIF data protocol does not allow NFS. 

Correct Answer: ABD 

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.exp-multp-cg/GUID-22C99AFB-
C64C4E99-8DD0-8F705BC803F8.html 

 

QUESTION 3

You have a new ONTAP 9.7 2-node AFF A300 cluster with 2x DS224C full shelves of 3.8 TB encrypted SSDs. 

In this scenario, which statement matches the factory disk-ownership setting? (Choose the best answer.) 

A. All drives on shelf 1 are assigned to one node, and all drives on shelf 2 are assigned to the partner node. 

B. All even-numbered drives on each shelf are assigned to one node, and all odd-numbered drives on each shelf are
assigned to the partner node. 

C. Disk ownership is not assigned by the factory. 
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D. Drives 0-11 on each shelf are assigned to one node, and drives 12-23 on each shelf are assigned to the partner
node. 

Correct Answer: C 

 

QUESTION 4

You are using NetApp Volume Encryption (NVE) on an AFF system. 

In this scenario, which two key-management solutions are supported for NVE? (Choose two.) 

A. a KMIP server 

B. an SSH key manager 

C. the onboard key management service 

D. an XTS-AES-256 key manager 

Correct Answer: AD 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-
nve%2FGUIDEAD13D8E-0219-45B6-A2C6-B25B76C9CA1A.html 

 

QUESTION 5

You currently have an 8-node cluster and want to perform a rolling upgrade to a newer version of ONTAP to solve
security issues reported in the Active IQ Web site. 

In this scenario, which two steps should you validate before you perform the upgrade? (Choose two.) 

A. Run Active IQ Config Advisor. 

B. Validate Nodes with Hardware Universe. 

C. Validate Nodes with Active IQ Unified Manager. 

D. Run Upgrade Advisor Report. 

Correct Answer: AD 
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